

Sec 4.1.3

$$a(x + b) = c$$

$$\{ \quad \} \quad a(bx + c) = d(ex + f)$$

p. 105

STEPS:

- ① REMOVE BRACKETS USING THE DISTRIBUTIVE LAW
- ② COLLECT LIKE TERMS
- ③ FIND VARIABLE(S)
- ④ MOVE VARIABLES TO ONE SIDE USING INVERSE OPERATIONS
- ⑤ REMOVE CONSTANT & THEN COEFFICIENT

DISTRIBUTIVE LAW: $a(bx + c) = abx + ac$

EX) $5(2 + 1) = 15$

$$5(2) + 1 \neq 15$$

$$10 + 1 \neq 15$$

} FORGOT TO
MULT. AND
TERM

$$5(2 + 1) = 15$$

$$5(2) + 5(1) = 15$$

$$10 + 5 = 15$$

} CORRECT!

$$\text{EX. 1)} \quad 2(x+5) = 16$$

$$2x + 2(5) = 16$$

$$2x + 10 = 16$$

$$\begin{array}{r|l} 2x & 16 \\ + 10 & \\ \hline & -10 \\ \hline 2x & 6 \end{array}$$

$$x = 3$$


$$\text{EX. 2)} \quad -27 = -3(n-1)$$

$$\begin{array}{r} -27 = -3n + 3 \\ -3 \quad \quad \quad -3 \\ \hline -27 = -3n + 3 \\ -3 \quad \quad \quad -3 \end{array}$$

$$\frac{-30}{-3} = \frac{-3n}{-3}$$

$$10 = n$$

EX. 3) $5(y+3) = 4(y+5)$



$$\begin{array}{r} 5y + 15 \\ -4y \\ \hline 1y + 15 \\ -15 \\ \hline y \end{array} = \begin{array}{r} 4y + 20 \\ -4y \\ \hline 20 \\ -15 \\ \hline 5 \end{array}$$

$$\text{ex. 4) } 7 + 2(4 - 3x) = -5(x - 2)$$

$$7 + 8 - 6x = -5x + 10$$

$$15 - 6x = -5x + 10$$

$$\begin{array}{r} 15 \\ -10 \\ \hline \end{array} = \begin{array}{r} 1x + 10 \\ -10 \\ \hline \end{array}$$

$$5 = x$$

ex. 5) $x - 2 = 6(x - 2) - 2(x + 1)$

$x - 2 = 6x - 12 - 2x - 2$

$x - 2 = 4x - 14$

$x - 2$	$4x - 14$
$-x$	$-4x$
$+14$	$+14$
$3x$	0

$\frac{12}{3} = \frac{3x}{3}$

$4 = x$

$$\text{ex. 6) } \frac{1}{2} (4x - 6) - \frac{1}{4} (24 - 8x) = \frac{1}{3} (6x - 21)$$

$$2x - 3 - 6 + 2x = 2x - 7$$

$$\frac{4x}{-2x} - 9 = \frac{2x}{-2x} - 7$$

$$\frac{2x - 9}{6 + 9} = \frac{-7}{-7 + 9}$$

$$\frac{2x}{e} = \frac{2}{e}$$

$$x = 1$$

P. 98 RED/105

BLACK

1-8 NOVICE

1-16 APPRENTICE

1-15 ODD # 17-22

EXPERT